
1)
Find the next three numbers in 
the sequence
29,24,36,31,43,38,50__,__,__

Answer: ____________

2) Solve by factorising 
f2 + 14f + 13 = 0

Answer: ____________

3) Find area of triangle
a = 85 in, b = 95 in

Answer: ____________

4) 05:58 am To 10:08 am

Answer: ____________

5) Round 23.66 to the nearest 1000

Answer: ____________

6) Round 23.66 to the nearest 1000

Answer: ____________

7) Round 23.66 to the nearest 1000

Answer: ____________

8) (3 x 97) + (6 x 104)

Answer: ____________

9) 84 - 52

Answer: ____________

10) 18/2 + 7/10

Answer: ____________

11) 'What is the probability of rolling 
factors of 3.when rolling a dice

Answer: ____________

12) 3 x 10

Answer: ____________

13) 4   4/10 - 4   2/3

Answer: ____________

14) Convert the following improper 
fraction 44/9 + 11/2 into a mixed 
number

Answer: ____________

15) Convert the following improper 
fraction 44/9 + 11/2 into a mixed 
number

Answer: ____________
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16) Convert the following fraction into a 
mixed number: 9/8

Answer: ____________

17) Simplify 14:10

Answer: ____________

18) Round 5.44013 to 3 significant 
figures.

Answer: ____________

19) 97 + (-32)

Answer: ____________

20) (q9)13

Answer: ____________

Total: ___ / 20
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Answers:

1) 45,57,52, 2) f = -1 or -13 3) 4037.5in 4) 04 Hours 10 Mins 5) 23.66 6) 23.66 7) 23.66

8) 14408907 9) 32 10) 97/10 11) 1/3 12) 30 13) 4/15 14) 517/18

15) 517/18 16) 11/8 17) 7 : 5 18) 5.44 19) 65 20) q117
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